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Enrollment No: ______________________         Exam Seat No: _______________________ 

C.U. SHAH UNIVERSITY 
Winter Examination-2018 

 

 Subject Name: Surveying-II       

Subject Code: 2TE04SUR1                         Branch: Diploma (Civil)   

Semester: 4        Date: 23/10/2018               Time: 10:30 To 01:30                Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14) 

 a)  The angle between the back tangent and forward tangent of a curve is known 

as 

a) deflection angle                           b) central angle  

c) angle of intersection                   d) none of these 

1 

 b)  

 

Overturning of vehicles on a curve can be avoided by using 

a) compound curve                         b) vertical curve 

c) reverse curve                              d) transition curve 

1 

 c)  Different grades are joined together by a 

a) compound curve                        b) transition curve 

c) reverse curve                             d) vertical curve 

1 

 d)  For a tacheometer the additive and multi-plying constants are 

respectively 

a) 0 and 100                                  b) 100 and 0 

c) 0 and 0                                      d) 100 and 100 

1 

 e)  The number of horizontal cross wires in a stadia diaphragm is 

a) one                 b) two                c) three                 d) four 

1 

 f)  Subtense bar is an instrument used for 

a) leveling 

b) measurement of horizontal distances in plane areas 

c) measurement of horizontal distances in undulated areas 

d) measurement of angles 

1 

 g)  The shift of a curve is  

a) equal to          b) one-half          c) one-third                 d) one-fourth 

1 

 h)  The autogenous curve of an automobile corresponds to a  

a) cubic parabola                             b) clothoid spiral                     

c) true spiral                                    d) lemniscate 

1 

 i)  A branch of surveying in which the horizontal and vertical distances of points 

are obtained by instrumental observations, is known as 

a) chain surveying                 b) plane table surveying                     

c) tacheometric surveying                 d) hydrographic surveying 

1 

 j)  A stadia telescope, in a tacheometer, is fitted with  1 
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a) two additional vertical hairs           b) two additional horizontal hairs                  

c) all of these                                      d) none of these 

  k)  The additive constant for the tacheometer is  

a) f + d              b) f - d             c) f / d                 d) f x d 

1 

 l)  The multiplying constant for the tacheometer is, generally, kept as 

a) 0            b) 10            c) 100               d) 1000   

1 

 m)  The value of additive constant for the tacheometer varies from  

a) 30 to 45 cm                          b) 10 to 20 cm       

c) 20 to 30 cm                                   d) 30 to 45 cm 

1 

  n)  Direct method of contouring is 

a) a quick method                 b) adopted for large surveys only 

c) most accurate method          d) suitable for hilly terrains 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 a) Enlist advantages and disadvantages of total station. 6 

 b) Explain all types of total station with diagram. 8 

Q-3  Attempt all questions (14) 

 a) Explain automatic target recognition (ATR). 6 

 b) Discuss correction factors and constants of total station. 8 

Q-4  Attempt all questions (14) 

 a) Explain data gathering components and data processing components in total station. 6 

 b) Calculate offsets at 5m distance for a simple curve 100m radius, 50m long chord 

and mid ordinate is 3.17m.  

 

8 

Q-5  Attempt all questions (14) 

 a) Explain precautions to be taken while using total station. 6 

 b) Explain transition curve and vertical curve with diagram. 8 

Q-6  Attempt all questions (14) 

 a) Explain stadia and fixed hair method use in tacheometric survey. 6 

 b) The staff position is 65m and 130m from instrument and staff intercept readings 

are 0.65m and 1.3m respectively. Calculate the tacheometer constant.  
8 

Q-7  Attempt all questions (14) 

 a) Derive formula for trigonometrical leveling when base of object is inaccessible 

and both instrument axes are at same level in same vertical plane. 
6 

 b) Explain methods to determine relative altitudes in various cases. 8 

Q-8  Attempt all questions  (14) 

 a) A simple curve has 200m radius and 65* deflection angle. Calculate  
i) Length of curve (ii) tangent length (iii) mid-ordinate. 

6 

 b) Explain any one method use in determining of constants of tacheometre 8 
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Q-1  Attempt the following questions: (14) 

 a)  એક કલવ ના ફેક ટેનજ ેંટ અને આગડ ના ટેનજ ેંટ ના એંગર ને                  શ ુકહલેામ છે.  
a) deflection angle                           b) central angle  

c) angle of intersection                   d) none of these 

1 

 b)  

 
ળેનો ઉ઩મોગ કરય લાહન ન ુઓલય ટર્નિંગ અટકાર્લ સકામ  
a) compound curve                         b) vertical curve 

c) reverse curve                              d) transition curve 

1 

 c)  અરગ અરગ ગે્રડ ને સેના લડે જોડલાભા આલે છે? 

a) compound curve                        b) transition curve 

c) reverse curve                             d) vertical curve 

1 

 d)  ટેરકમોર્ભટય ભાટે અરડરટલ અને ભલ્ટટપ્રાઇગ કોંસ્ટંટ કેટલ ુરેલા ભા આલે છે  
a) 0 and 100                                  b) 100 and 0 

c) 0 and 0                                      d) 100 and 100 

1 

 e)  સ્ટારડમા ડામાફ્રાભ ભા હોરયજોન્ટર લામય ર્ન સખં્મા. 
a) one                 b) two                c) three                 d) four 

1 

 f)  સબ્ટેંળ ફાય એ સાધન ળેના ભાટે લ઩યામ છે.  
a) leveling 

b) measurement of horizontal distances in plane areas 

c) measurement of horizontal distances in undulated areas 

d) measurement of angles 

1 

 g)  કલવ ર્ન ર્સપટ કેટલ ુહોમ છે. 
a) equal to          b) one-half          c) one-third                 d) one-fourth 

1 

 h)  ઓટોભોફાઇર ન ુઓટોજજનસ કલવ ને શ ુકહલેામ. 
a) cubic parabola                             b) clothoid spiral                     

c) true spiral                                    d) lemniscate 

1 

 i)  સલેઇનગ ર્ન એક સાખા કે જેભા હોરયજ ેંટૅર અને લરટિકર દુરય ને ઓબ્જલેસન ર્થ 
ભેડલલા ભા આલે છે. 
a) chain surveying                 b) plane table surveying                     

c) tacheometric surveying                 d) hydrographic surveying 

1 

 j)  સ્ટારડમા ટેરેસ્કો઩ ને ટેરકમોર્ભટય ભા સેના સાથે રપટ કયલાભા આલે છે.  
a) two additional vretical hairs           b) two additional horizontal hairs                  

c) all of these                                      d) none of these 

1 

  k)  ટેરકમોર્ભટય ભાટે અરડરટલ કોંસ્ટંટ કેટલ ુરેલા ભા આલે છે  
a) f + d              b) f - d             c) f / d                 d) f x d 

1 

 l)  ટેરકમોર્ભટય ભાટે ભલ્ટટપ્રાઇગ કોંસ્ટંટ કેટલ ુરેલા ભા આલે છે  
a) 0            b) 10            c) 100               d) 1000   

1 

 m)  ટેરકમોર્ભટય ભાટે અરડરટલ કોંસ્ટંટ ર્ન રકભત હોઇ સકે છે  
a) 30 to 45 cm                          b) 10 to 20 cm       

c) 20 to 30 cm                                   d) 30 to 45 cm 

1 
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  n)  કોંટેરયિંગ ર્ન ડાઇયેકટ ભેથડ છે.  
a) a quick method              b) adopted for large surveys only 

c) most accurate method       d) suitable for hilly terrains 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 a) ટોટર સ્ટેસન ના પમદા અને ગેય પમદા રખો.  6 

 b) ફધાજ પ્રકાય ના ટોટર સ્ટેસન ને સભજાલો.    8 

Q-3  Attempt all questions (14) 

 a) ઓટોભેરટક ટાગેટ્ર રયકોગર્નસન ને સભજાલો.  6 

 b) ટોટર સ્ટેસન ન ુકયેકસન પેકટય અને ટોટર સ્ટેસન નો ઉ઩મોગ કયર્ત લખતે ધ્માન ભા 
યાખલા ભા આલર્ત ફાફતો ર્ન ચચાવ કયો.   

8 

Q-4  Attempt all questions (14) 

 a) ટોટર સ્ટેસન ન ુડાટા બેગ ુકયલાન ુઅને ડાટા ને પ્રોસેસ કયલાના બગો ને સભજાલો  6 

 b) એક સય઱ લક્ર ર્ન ર્િજ્મા 100m છે ચોડવ 50m રામ્બફ છે ભધ્મકવ 3.17m છે તો 5 ભી. 
ન અંતયે ઓપસેટ સોધો.  

8 

Q-5  Attempt all questions (14) 

 a) ટોટર સ્ટેસન નો ઉ઩મોગ કયર્ત લખતે ધ્માન ભા યાખલા ભા આલર્ત ફાફતો ર્ન ચચાવ 
કયો. 

6 

 b) ટ્રાજંજસન કલવ અને લરટિકર કલવ ને આક્રુર્ત દોરય સભજાલો. 8 

Q-6  Attempt all questions (14) 

 a) ટેરકમોર્ભટય સલે ભા લ઩યાતા સ્ટારડમા અને રપક્સસ્ડ હયે ભેથડ ને સભજાલો. 6 

 b) ઉ઩કયણથી સ્ટાપ ર્ન સ્સ્થર્ત 65 ભી અને 130 ભી અંતયે આલેર છે. સ્ટાપ ન ુઇંટસેપ્ટ 
અલરોકન  અનકુ્રભે  0.65 ભી અને 1.3 ભી છે. તો  ટેકીમોભીટય ન આચણાકંો ની 
ગણતયી કયો. 

8 

Q-7  Attempt all questions (14) 

 a) જ્માયે ફને્ન લસ્તઓુ ઇનએસેર્સફર છે અને ફને્ન સાધનો ન ુઅક્સસ એકજ રેલર ના 
લરટિકર પ્રેન ભા છે તો રટ્રગ્નોભેરટ્રકર રેલેલરિંગ ન ુસિુ તાયલો. 

6 

 b) જુદા જુદા કેસ ભા સ઩ેક્ષ ઉચાઇ ભેડલલાર્ન ભેથડ સભજાલો.  8 

Q-8  Attempt all questions  (14) 

 a) એક સય઱ લક્ર ની ર્િજ્મા 200 ભી અને રડપરેક્સસન કોણ 58*
 છે.  

ગવણતયી કયો (1) કલવ ની રાફંાઈ (2) ટેનજ ેંટ ન ુઅંતય (3) ર્ભડ – ઓયરડનેટ.  

6 

 b) ટેરકઓર્ભટય ન ુકોન્સટંટ ભેડલલાભાટે ર્ન કોઇ એક રયત ને સભજાલો. 8 

 


